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In the following, which is not
correct about extension education ?

(1) The home 18 the
Fundamental Unit of
Civilization.

(2) The extension worker should
give priority to the felt needs
of the people.

(3) Extension teaching should be
vertical.

(4) New teaching methods must
be devised to meet new
situations and changing
conditions.

In the learning situation, which
one is in the centre point ?

(1) Teacher

(2) Learner

(3) Subject Matter

(4) Physical facilities

The process by which one
through his own activities
changes the behaviour is called

(1) Learning

(2) Learning situation

(3) Teaching

(4) Communication process

Among the following statements,

which is not correct ?

(1) Learning is facilitated when
a new behaviour contributes
in satisfying felt needs on the
part of the learner.

(2) Learning is facilitated when
two or more senses are used
at a time by the learner.

(3) When a response is repeated
many times it tends to
become habitual.

(4) Learning is a
process.

one-way
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In the following, which one is the

principle of learning ?

(1) Learning by observation.

(2) Conditioning learning.

(3) Learning should be
meaningful.

(4) Learning by trial and error.

“People learn more rapidly and
permanently when the learning
experience 1s pleasant.” It comes
under

(1) The law of belonging

(2) The law of effect

(3) The law of readiness

(4) The law of exercise

In the following, which is not

correct about learning experiences ?

(1) learning experiences should
provide the continuity and
sequential development.

(2) learning experiences should
contribute to the interest in
the desire for more learning.

(8) Both of the above

(4) None of the above

Driving a tractor and swimming is a

(1) Motor learning

(2) Perceptual learning

(3) Problem solving learning

(4) Attitude learning

Match the following & select the
correct answer

1. Field trips A. Co-operative

method
2. Panel B. Trainer-
dominated
method
3. Counseling C. Trainee-
dominated
method
4. Skills through D. Functional
instruction method
1 2 3 4
1) C A B D
2) D C B A
3) B A wrl
4) D B AL
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10. In the following, which method
comes under trainer-dominated
method ?

(1) Demonstration
(2) Survey

(3) Group discussion
(4) Symposium

11. In the following which one is not
the element of a good learning
situation ?

(1) A skillful extension worker.

(2) Farmers who wants to learn.

(3) Evaluator, who wants to
evaluate.

(4) Required physical
arrangements.

12. In the following, which is not the
objective of training ?
(1) To create awareness
(2) To motivate learning
(8) To develop the skills
(4) To evaluate A.V. Aids

13. Among the following which one is
not the types of training ?
(1) Pre-service training
(2) On-service training
(8) Periodical meetings
(4) Demonstration

14. “Extension methods, are
important to the extension
workers, what machines,

wrenches, screw-driver, vices and
hammers are to the mechanics.”
This definition is given by

(1) J.P. Leagans

(2) Berlo

(3) D. Ensminger

(4) Schramm

|

|

|

i

]

% 15. The educational techniques and
i aids for contacting people, useq to
|
|

|
|
i

create = situation 1in  which
communication can take place
between the instructor and the
learner is called as

(1) Learning situation

(2) Communication process

(3) Extension methods

(4) Teaching aids

4 27



16. Fw=ifea # & =W @t g wmwh
fg-smmf 2 2
(1) =g (2) Htew
(B) THAWE  (4) MR

= 08 S R ansh, gew
&L T JSTEW R ?

(1) ehifesm

2) Tren i TiRTe

(3) AaRs WieaR

(4) wEH.E. IR

Fr=ifera & @ a1 H-smandt R
ATl 1 SEE R ?

(1) we a1 (2) wagaett

(3) WA @) =i

Fifera § & B9 |7 sty vage %
g wwsd Fmd ?

(1) =S TisiTe

(2) Tren TSt

(3) IMEE Hiolwret

(4) Iww ot

3t Woie Rigra v ot 2
(1) weg g8qo

(2) 3TScIe HYqOT

(3) yuafda yeio

(4) I o 4 wig 18

SEE % MR W e fRE w0
fiepTor fomar T 8

(1) forfiaa, e aorm gva aeien
(2) Torfaa, Hifas o2 w1 godis
(3) wiftgeh, Yo+ aon safama aais
(@) T A B

17.

18.

19.

20.

21.

27

T S WAAIOY WL WS Tt N AR SRR s bt

16.

17.

18.

19.

20.

In the following, which visual aid
18 two dimensional ?

(1) Specimen (2) Model
(3) Flannel Graph (4) Projector

In the following, which teaching
aid is the example of direct
projection ?

(1) Television

(2) Film Strips Projectors

(3) Overhead Projectors

(4) LCD Projector

In the following, which is the
example of three dimensional
teaching aids ?

(1) Flannel graph(2) Puppet

(3) Posters (4) Chart

Among the following, which is
working on the principle of
indirect projection ?

(1) Slide projector

(2) Film projector

(3) Overhead projector

(4) All of the above

Opaque projector works on the
principle of

(1) Direct Projection

(2) Indirect Projection

(3) Reflected Projection

(4) None of the above

. According to forms the teaching

methods are classified as

(1) Written, Verbal, Visual Technique.

(2) Written, Verbal, Audio Technique.

(3) Verbal, Demonstration,
Individual Technique.

(4) None of the above
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| 22. Match the following and choose

23.

24,

the correct answer -

1. Bydoing A Individual
contact
2. Decision B. Classification
based on
learning
objectives
3. Attitude C. Classification
based on
innovation
decision
process
4. Tele-phone D. Method
call demonstration
1 2 3 4
(1) D C: BraA
2) B A D.C
3 C D B A
4) A D G5B

In the following, which is the
projected teaching aids ?
Puppets
harts
(3) Folk songs and dances
(4) Epidiascope

In the following, which is the
example of group contact method ?
(1) Television

(2) Radio

(3) Satellite

(4 Result demonstration

In the following, which is not
correct about individual contact

method ?
(1) Develops goodwill.
vides first hand information
about village problems.

3 Organizing discussion
meetings so that the farmers
are able to discuss their
problems and find solutions.
To find out the villagers
problem and their interest in
solving them.
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Match the following Folk media :
1. Tamasha A. Karanataka

2. Ramleela B. Maharashtra
3. Yakshgana  C. Uttar Pradesh
4. Koddi- D. Kerala
yattam
| - IR, T |
1) B C.A D
@2 C B-"D A
3) D A:B e
@A C Ds:aB
Match the following Folk dances :
1. Gidha A. Assam
2. Bihu B. Punjab
3. Chandyee  C. Maharashtra
4. Powda D. Odisha
1 2 3 4
(1) D B C A
2) B . Rl § 18 ¢
3) C B-7 K7D
4 A D BEEO
In the following which one is not
the visual teaching aids ?
(1) Bulletin Board
(2) Flip Chart
(3) Flash Card
(4) Film

Among the following, which is not
correct about the A.V. aids 5

(1) Capture audience attention
& arouse their interest.

(2) Teaching reaches near to
reality. ’

Stimulate thinking & are

thought provoking.

6

AV. aids are easy to prepare.

CY
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Among the following, which
statement is not correct about the
slides ?

(1) Motivational for audience.

(2) Very effective for group

discussion.
(3) Difficult to store.

(4) Create attention and arouse
interest to the audience.
Among the following which one is
not the principle of Community
Development Programme ?

(1) Principle of flexibility

(2) Principle of co-operation

(3) Principle of democratic
approach

(4) Principle of individual
development

In the following, which is the

principle of community

development programme ?

(1) Principle of Local leadership
(2) Principle of Participation

(8) Principle of Continuous effort
(4) All of the above

In the following, which is the
function of community
development worker ?

(1) As a social reformer

(2) As a specialist

(3) Asa guide

(4) All of the above

The objective of Bharat Krishak

Samaj 18

(1) To study the problems of
farmers.

(2) To collect funds, hold meeting,
conferences. Send
representation, memoranda ete.

(8) To assist in formulating

National and International
policies and progress in the
interest of farmers and co-
operate them.

(4) All of the above
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Among the following which one 1s

not the farmer’s organization ?

(1) Farmer’s Forum of India.

(2) Bharat Krishak Samaj.

(3) Tonnage Club of M.P.

(4) Integrated
Development Scheme.

Child

In India, the Central Social
Welfare Board was established in
the year

(1) 1953 (2) 1965

(3) 1975 (4) 1955

At district level the Chairman of
Community Development

Programme is

(1) Collector

(2) District Labour Officer

(3) District Extension Officer
(4) District Agriculture Officer

National Extension Service was
started in the year

(1) 1949 (2) 1952

(3) 1975 (4) 1953

At central level, the Chairman of
Community Development
Programme is

(1) Prime Minister

(2) Finance Minister

(3) Foreign Minister

(4) Chief Minister

. In India, the first level of

Community Development

Programme at the top level is

(1) National Development
Committee

(2) National Planning Committee

(3) National Development Council

(4) None of the above
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At state level, the Secretary of
Community Development
Programme is

(1) State Agriculture Minister
(2) Development Commissioner
(3) State Health Minister

(4) State Finance Minister

Among the following, which is the
achievement of  Community
Development programme ?

(1) Special Programme for SC,
ST & Hilly areas.

(2) Development of Small &
Village Scale Industries.

(3) Development of Animal
Husbandry.

(4) All of the above

Council for Advancement of
Rural Technology (CART) was
established under the Ministry of
Rural Development in the year

(1) 1982 (2) 1975

(3) 2000 (4) 1952

Among the following which is the
similarity in between extension
education and Community
Development ?

(1) Tackles the problems of the

people.

(2) Aimed at bringing about
change.

(3) Basically an educational
approach.

(4) All of the above

. In the following, which is not the

informal method to train the
leaders ?

(1) Reading the printed
literature, circular letters
received from the community
development workers.
Talking with other leaders or
progressive farmers.

Lecture

Observation, i.e. noticing how
other farmers performed or
visit to other farmer’s
holdings.

2

(3)
@
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. The

appropriate
objective of Community
Development Programme.

(1) To improve the economic,
social and cultural condition
of rural India sO that
standards of rural people can
be raised.

To bring desirable change
and provide job to the rural
people.

To provide loan SO that they
raise their standards of
living.

(4) None of the above

2

In the following, which is not

correct ~ about elements  of

Community Development ?

(1) To increase community co-
operation

(2) National Progress

(3) Determination of policies

(4) To grant loans

Among the following which is not
correct about the community ?

(1) A definite Geographical area
(2) Group of people

3) Community sentiments

(4) Governmental assistance

Executive Officer of
Panchayat Samiti is _

(1) Village Development Officer
(2) Block Extension Officer

(3) Block Development Officer

(4) Block Agriculture Officer

«Analyse the situations” 18 the
step of

(1) Programme planning

(2) Program evaluation

(3) Programme monitoring

(4) Allof the above
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51. The process by which people work

52.

54.

together to determine the goals is
called

(1) Programme evaluation

(2) Communication

(3) Learning

(4) Programme planning

An outline of activities arranged SO
as to enable efficient execution of
the entire programme is known as
(1) Determination of objectives

(2) Analyse the situation

(3) Programmé execution

(4) Develop 2 plan of work

. In the following, which one is not

the objectives of community

development programme given by

Pt. Jawahar Lal Nehru ?

(1) All round Jevelopment of the
villages.

2) To develop Rural leadership.

3) To develop Co-operatives.

(4) To generate the feelings of

-

community life among people.

Among the following which is not
the professional community
development workers 7

(1) Village Level Workers

(2) Members of Panchayats

3) Block Development Officers
(4) Extension Officers

The functions of Gram Panchayat

at village level are

(1) To protect public property.

2) To construct roads which connect
from village to town or city.

@) To construct ponds, wells,
hand pumps, tube wells for
providing clean drinking
water facility.

(4 Al of the above
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57.

In the following, which is the

characteristics ~ of 8 good

programme ?

(1 It should state the primary
" facts that clearly reveal the

situation on Major subjects or

problem areas.

It should specify the subject

matter related 1O each

objectives that is highly

significant to people, socially

and economically.

It should be used as a basis

for developing an annual

plan of work.

(4) All of the above

2

3

The first step of programme
planning is

(1) Collection of facts.

(2) Clarification of objectives

3) Determination of goals

(4) Identifying problems

Among eight steps of programme
planning, process, the first four
steps are included under

(1) Programme execution

(2) Programme evaluation

(3) Programme planning

(4) None of the above

‘An outline of procedure SO
arranged as o enable efficient
execution of the entire
programme. ‘It is the answer to
what, where, when and how the
job will be done. This definition
of plan of work is given by

(1) D. Ensminger

(2) J.P.Leagan

(3) S.V.Supe

(4) Kelsey and Hearne
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60. Among the following, which is the

61.

62.

63.

of extension

importance
programme ?
(1) To present a programme in
written form, a statement for
public use.

To establish objectives with
which progress can be
measured and evaluated.

To ensure careful
consideration of what is to be
done and why ?

(4) All of the above

@)

3

In the following, which is not the
steps of adoption process ?
(1) Awareness

(2) Interest

(3) Ewaluation

(4) Planning

In the following, which is not the
characteristics of innovation ?

(1) Complexity

(2) Trial and Error

(3) Utility

(4) Observability

The process by which new ideas
are communicated to  the
members of a social system is
known as

(1) Innovation (2) Diffusion
(3) Evaluation (4) Adoption

The process by which alterations
occur in the structure and
function of a social system is
known as

(1) Social change

(2) Social custom

(3) Social belief and traditions
(4) All of the above
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65.

66.

67.

In the following which statement
is not correct about principle of
programme planning ?

(1) Extension programme
planning selects problems
based on the mneeds and
interests of the people.
Extension programme
planning has a definite plan
of work.

Extension programme
planning is a co-ordinating
process.

Programme planning is not a
continuous process.

2

3

4

Basic principle used in

educational planning is

(1) Only planning at the top and
lower level.

(2) Only general agreement
among various level.

(8) Only crucial questions taken
into consideration.

(4) All of the above

When 739 Amendment Act, 1993
came into force, at that time the
Prime Minister of India was

(1) Chandra Shekhar

(2) P.V. Narasimha Rao

3) Vishvanath Pratap Singh

(4) Rajiv Gandhi

. The percentage of innovators

1) 25%
@) 34%
(3) 20%
@) 25%

. The percentage of laggards is

1) 1-4
(2) 10-16
(3) 510
(4) 20—25
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70.

71.

72.

73.

| 74.

Among the following which is not
correct for innovators ?

(1) They are the first farmers to
adopt a mnew idea and
techniques.

They adopt mnovaimns a little
earlier than the average farmers.
They have large farm size and

high social status.
Their activity is more in
community organization.

2
3
@

Match the following in correct
way and find the correct answer :
1. Madhya A. One Tier
Pradesh System
2. Nagaland . Three Tier
system
Four Tier
System
. Two Tier
System
4
C
A
C
A C

B

3. Goa C.
4, Assam D
1

(1) B
2 C
3) A
4 D

2-:3
A D
D B
B D

B

Among the following which is not
the theory of leadership

(1) Trait theory

(2) Functional theory

(3) Institutional theory

(4) Pavolian theory

A Leader is

(1) A planner

(2) A policy maker
(3) An arbitrator
(4) All of the above

In Panchayati Raj
Anchlik Panchyat is in
(1) Tamil Nadu (2) Uttarakhand
(3) Assam (4) Bihar

system
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75. In the following, which is not

76.

71.

correct about Panchayati Ra)

System ?

(1) Reservation _ Article 243 D
of seats

(2) Election of — Article 243K
Panchayats

(3) Gram Sabha  — Article 243 A

(4) Constitution  — Article 243 N
of Panchayats

In the following which, is correct

statement about Panchayati Raj ?

(1) In each village there will be a
gram sabha.

(2) On the recommendation of
Sri Balwant Rai Mehta,
Government of India legally
started democratic
decentralization.

(3) Both of the above

(4) None of the above

The reasons of failure of
Panchayati Raj System
(1) Excessive Control of

Bureaucrats.

(2) Unclear situation of Gram
Sabha.

(3) Unwillingness t0 exercise/use
financial authorities.

(4) All of the above

. In the Panchayati Raj system,

Halka Panchayat is in

(1) Jammu and Kashmir

(2) Madhya Pradesh

3) Karnataka

(4) Goa

Among the following, which is the

function of Gram Panchayat ?

(1) To protect public property

(2) Cleanliness of ponds,
tanks etc.

(3) To build roads which connect
from village to town/city.

(4) All of the above

old
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80.

81.

82.

83.

Choose the correct answer from
the following :

(1) Exhibits — Mass approach
(2) Campaign - Group approach
(3) Training  — Mass approach
the leaders
(4) Posters — Individual
approach

In the following, which statement

is not correct about Panchayat

Raj ?

(1) BDO is the Executive Officer
at block level.

(2) Collector is the chairman at
Zila Parishad.

(3) Zila Parishad is the lowest
institution at district Level.

(4 V.L.LW. is the Executive
Officer at village level.

Among the following, which
managerial skills should be there
in a woman entrepreneur ?

(1) Positive attitude

(2) To accept challenges

(8) Ambitious & self motivated
(4) All of the above

The major objective of the 8th-

Five Year Plan was

(1) Human development

(2) To improve economy of the
country.

(3) To eradicate the poverty.

(4) To give priority to agriculture

and rural development.

National Rural Employment

Programme was more promoted

in which of the following Five

Year Plan ? :

(1) 1st Five Year Plan

(2) 2nd Five Year Plan

(3) 5tk Five Year Plan

(4) ¢t Five Year Plan
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86.

87.

88.

for Tribal
launched in

‘Pilot project
Development’ was
the year

(1) 1972-173 (2) 1951 -52
(3) 1966 — 67 (4) 19751717

Intensive Agricultural District

programme wWas started on a pilot

basis in 1961 and is popularly

known as

(1) Rural works programme

(2) Package programme

(3) Food-grains production
programme

(4) None of the above

Public address system is an
example of :

(1) AV.Aids (2) Visual Aids
(3) Written Aids (4) Audio Aids

From the following options which
one is correct about non-formal

education ?
(1) Only Legislators can help by

political action.

(2) Onmly Administrator can help
b planning and
implementation.

(8) Only developmental agencies
can help by integrating
education with development.

(4) Allofthe above

Match the following and choose

the correct answer :

1. Adult A. 2 Oct., 1959
education

9. Community
Development
Programme

3. Panchayati
Raj

4. National
Extension
Service

1 2

B. 2Oect., 1978

C. 20Oct., 1952
D. 1953

3
D
C
A
B
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o
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() It is the

Among the following, which 1is
correct statement about the Non-
formal education ?
(1) Democratic
dialogue.
(2) Sharing ideas & experience.
(3) Trainingin practical skills.
(4) All of the above

In the following, which is correct
for adult education ?

(1) Abstract and theoretical

(2) Authoritarian and imposed
(3) Both of the above

(4) None of the above

Among the following which
agencies  provide non-formal
education ? ;

(1) Krishi Vigyan Kendra

(2) Nehru Yuva Kendra

(3) Youth Clubs

(4) All of the above

discussion &

In which Five Year Plan,
educational strategy was built on
the assumption that formal and
non-formal education should be
correlated and integrated ?

(1) 2~ Five Year Plan

(2) 3 Five Year Plan

(8) 5t Five Year Plan

(4) None of the above

. In the following, which is correct

about farmer’s functional literacy

programme ?

biggest on-going
country-wide programme of
out-of-school adult education.

(2) Financial Assistance 18 given
by Central Government.

@) It is classified as Central
Sector Programme.

(4) All of the above
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95.

97.

In the following which agencies

does not provide non-formal

education ?

(1) Family Planning Centres

(2) Village Literacy Centres

(3) National Institute
Technology

(4) Non-govemmental
Organization

of

. The main schemes of non-formal

education for

(1) Non-school going children in
the age group 6-14 years.

(2) Youths in the 15-25 years age

who

group have no
opportunity to formal
schooling.

(3) Both of the above
(4) None of the above

The main objective of “$armer’s
training and functional literacy
programme’ is to educate rural
people for participation in

(1) Green Revolution

(2) White Revolution

(3) Blue QOperation

(4) None of the above

. Functional literacy programme is

connected with

(@Y) Dryland farming

(2) Programme for
Development

3 Cattle Development Programme

(4) Allof the above

Among the following, which is the

role of community development

worker, as a guide ?

(1) Take jpitiative in
with people.

(2) Helps the community 10

ostablish & find the means of

achieving its goals.

Both (1) & (2).

None of the above

Industrial

working

3)
@
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. In the following options,

Integrated Rural Development
Programme Was implemented in
the whole country in the year

(1) 1980 (2) 1985

(3) 1990 (4) 1952

. In the following, which is not the

contemporary
organizer ?
(1) Expert
(3) Innovator

role of community

(2) Catalyst
(4) Educator

. Among the following, which is the

role of an enabler ?

1) Encouraging organization

(2) Nourishing good
interpersonal relations.

(3) Both of the above

(4) None of the above

which is

not the role of an expert of

community organizer ?

(1) To~ <. provide
information.

(2) Identify the problems.

(3) To provide skill for research.

(4) To diagnose the community.

technical

_ In the following which statement

is correct about the

communicator ?

(1) Thorough knowledge of the
subject.

(2) Knowledge about
communication channel.

(3) Communication gkill.

4) All of the above

. In the following, which is not the

role of a community Organizer ?
(1) Mediator

(2) Facilitator

3) Therapist ;

(4) Entrepreneurship development
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106.

107.

108.

109.

110.

Choose the correct answers from

the following :

(1) International Literacy Year —
1990

(2) Community
Program — 1958

3

€Y

Development

National Literacy Mission —
1975
Rural Health Programme -
1980

“Leader is a person who has been
spontaneously considered, or
chosen, as being influential in a
specific situation or situations.”
This definition of leadership is
given by

(1) O.P. Dahama(2) Allport

(3) J.S. Garg (4) Paul Pigor

In the following, which is correct
about types of leaders ?

(1) Informal leader

(2) Progressive leader

(3) Selected leader

(4) All of the above

a successful

“For leader,
truthfulness, faith, vision,
planning ability and taking

initiative should be present.” This
statement is given by

(1) Dr. H.E. Ramsarower

(2) S.V. Supe

(3) J.P. Leagan

(4) Stogdill

In the following, which is not
correct about the functions of a
leader ?

(1) Policy maker

(2) Planner

(3) Group Symbol

(4) All of the above
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112.

113.

114.

115.

In the following, which is correct

about qualities of a leader ?

(1) Social insight.

(2) Loving for people.

(3) Influencing and
personality.

(4) All of the above

-effective

The basis of power for leadership is
(1) Reward Power

(2) Legitimate Power

(3) Referent Power

(4) All of the above

In the following which one is not
the Adopter’s categories ?

(1) Late Majority

(2) Passive Rejecters

(3) Active Rejecters

(4) None of the above

Among the following, which one
is the last step of adoption ?

(1) Acceptance (Adoption)

(2) First trial

(3) Evaluation

(4) Interest

Match the following and choose
the correct answer :

1. Aware- A, Apply the
ness innovation on
a large scale in
preference to
old methods.
2. Evalua- B. Seek further
tion information
about it.

3. Adop-tion C. First hear
about the
innovation.

4. Interest ~D. Weigh-up the
advantages and
disadvantages
of using it.

1 2.3 =4

1 C D A B

2 C B D A

3 B C b A

4 C D "BI*A
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116.

117.

118.

119.

In the following, which is correct

about principle of training ?

(1) Only motivation 18 basic to
good training.

(2) Only good training requires
offective learning experiences.

(3) Both of the above

(4) None of the above

In the following, choose the

correct option :

(1) A process of systematically
drawing upon experiences as
a means of making future
efforts more effective
evaluation.

(2) Evaluation is not exactly like
scientific research.

(3) Both of the above

(4) None of the above

is

The first step of evaluation 18

(1) To identify indicators.

(2) Clarity of objectives and
make them specific.

(3) Collection of data.

(4) Formulate overall objectives.

which is
the

Among the following,

correct statement about

feedback ?

(1) Feedback 1s source oriented.

(2) Feedback affects
Communication fidelity.

(3) Feedback affects
communicator.

(4) Al of the above

the



120. F= # ¥ 9 i e /EdEdr 9eEg
& rifafafert Ad 8 ¢
(1) R o a1
(2) ARASH TS
(3) Terila giEeT
(4) Freia< fasm aism
121. f= =i s
1. 3¢ qReie A, e (M.P)
GiGSET
9. 3ed @& @™, B. et ..
el S
3. feme T C.ugarIm
ST Iowey i

122. wrifaFrsaa # arion grien T i eI
s g R A A emad i e ?
(1) 1908 2 1921
(3) 1919 (4) 1931
123. T 4. H sow S g, HT 3 @
(1) fir, eea, &1 qu WA
(2) T, THaaT, B aY SR
(3) B, SHEHY, AT auT R
(4) Sulied d | HIS TR

124. v gaw st Sttt g = A e

(1) 1912 (2) 1888
(8) 1925 (4) 1890

125. “wnf=a $i Rren e fife o
Fruta i dfmddmadd
Sﬂ'i‘{ I DIRIBISC I
(1) 1949 (2) 1960
3) 1975 (4) 1990

26

120. Which of the following is not the
post independence activity ?
(1) Indian Village Service
(2) Marthandam Project
(3) Gurgaon Project
(4) Nilokheri Development
Scheme

121, Match the following :

1. Etawah Pilot A. Gwalior
Project - (M.P)

9. Adarsh Sewa B. Mr. F.L.
Sangh, Pohri Brayne

3. Firka C. Mabhera
Development Village in
Scheme U.P.

4. Gurgaon D. Madras
Experiment State :
(Project) Government
1 2 - Bramd

(1 C A D B

(2 A C B

3 D A D B

4 B cC A D

122. Rural Reconstruction Institute at
Shantiniketan was established by
Shri Rabindra Nath Tagore in
which of the following year ?
(1) 1908 (2) 1921
(3) 1919 (4) 1931
123. In the National 4-H Club, H
stand for
(1) Head, Heart, Hands and Health.
(2) Head, Humanity, Hands and
Health.
(3) Hands,
and Head.
(4) None of the above

i

|

?

|

% 124. Land Improvement Loans Act
| was constituted in the year
|

|

i

|

|

|

|

Honesty, Humanity

(1) 1912 (2) 1888
(3) 1925 (4) 1890
125. ‘Intensive Agricultural District

Programme’ was started in 7
selected districts in various states

in the year
(1) 1949 (2) 1960
(3) 1975 (49) 1990
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126. Education is

(1) The production of desirable
changes in human behaviour.

(2) To disseminate useful
information and ideas to rural
people outside the classroom.

(3) To get the job and earn money.

(4) To gain scientific knowledge
and to  transfer this
knowledge to rural people.

An individual learns by

(1) Formal education

(2) Non-formal education

(3) Informal education
(4) All of the above

127.

128. Sevagram was started under the
guidance of which of the following ?
(1) F.L. Bryne

(2) Mahatma Gandhi

(3) Hatch

(4) Vinoba Bhave

The word ‘Extension Education’
was firstly used in the Cambridge
University in England in the year
(1) 1894 (2) 1873
(3) 1914 (4) 1895

129.

. A cultural lag occurs when

&N Technological —and material
changes take place more rapidly
than non-material changes in
social values, attitudes and
social organization.
Rural people change their
values, attitudes gkills and
behaviour very rapidly.
Technological and material
changes take place less rapidly
than non material changes in
social values, attitudes and
social organization.
(4) None of the above.

@)

@)



131. frdt =afe o1 =raer waifed, PEB@ | 131, The behaviour of an individual is

e PeRm g ® - influenced, controlled and
1) SEEa directed by
(1) (1) Need
(2) SE#HHE
) (2) Programme
(3) TR (3) Culture
@) wHE (4). Philosophy
132, Fr9 # @ - vor Bren &1 885 | 132. Among the following which is not
? the scope of extension education ?
TR 1 s : s .
1 e s nereasing  efficiency in
( 2) N A ﬁq%m agricultural production.
@) A (2) Youth development.
(3) g 1 forpr (3) Leadership development.
(4) w1 fawE (4) Development of technology.
183. f=fifiaa w21 3 8 9 @ g e | 133, Among the following statements
& SETIHAT TR R ? which is not the need of extension
(1) zea s & education ?

(1) To increase efficiency.

136. i A AP -aI TS H ISR S 2 7
(1) @us (2) 9IS UTH
3 @S @ g

ey
o]
(=2}

. In the following which is not the
type of graphs ?
(1) Line graphs (2) Pie graphs
(3) Area graphs (4) Point graphs

27

(2) wFE FEER F qE, aﬁm (2). To bring changes in skills,
Y e A e o A : attitudes and values in
(3) wushalst em Fuwl H ow human behavior.
G IR Iro k] (3) To fill the gap between
SRt % oy s g researcher and farmer.
@ . ﬁ% AR (4) To formulate the policies and
' carry out them.
134. U safdky ol SASERTTS 31999 2 134. Behavioural components of an
(1) & T HAG individualis
é (1) Understanding and
(2) qeaam aﬁqu%ﬁ'ﬂ Translation.
(3) TMEUS AUT I § gg ;/\'Ialues ang. a]lizti:lii:udes.
! orms and skills.
@) wf % (4) All of the above.
H
135, “favafemmes yaw & fard § 135. The father of ‘University
(1) T?]T«f{lgaﬂi ; Extension’ is
@) . s : (1) James Stuart
3) & : ! (2) J.P.Leagan
(3) =i @li"m { (3) D. Ensminger
(4) urd=a ud e } (4) Parsons & Shils
!
|
l

o
8



137. T8 W W e R HEFT £ | 137. ‘Adult education programme’, at
EIAE g | national level, was started
(1) 147, 1985 %!
(2) 2 TR, 1978 %1
(3) 15 I, 1965
(4) 26<F, 1975 §
3 : . 138. ‘National Literacy Mission’ was
138, g TR i T S ! the part of
1) s T HTF L | ) (Plommunity Development
sm > rogtamnm
@ e <hrie i‘ (2) ‘Education for Al Programme
3) Uﬁmmmmiﬂ * (3) National Adult Education
’ { P
(4) mﬁﬁﬁéqﬁ 1 rogramme
i

(1) 14 November, 1985
2 2% October, 1978
(38) 15t August, 1965
(4) 26t January 1975

;
E
!
;

(4) None of the above

139. Adult Education Committee was
" formed under
1 (1) Central Advisory Board of
‘ @) %ducat%()% d of Second
| entral Board © econdary
6)) AT GehTent mm%aﬁﬁa ‘ Education.
; i (3) Indian Council for Technical
% Education.
i
!
\

(4) Indian Agriculture Research
Institute.

140. Extension education combines with

@) (e p v =1 \ (1) Adult education
(3) ey e R Y | (2) Physical education
@) sadEa gt | 3 Technical science education
i (4) Allof the above
141. Pretiferd | 3 FE-E TEL frea TRl i 141. In the following which is the
o R ? | correct definition of extension
m' i | education ? ,
@ vt 3 fe e 'i (1) Extension 18 discrimination
Wmﬁm% | % of useful knowledge to the
(2) TERTH e AT TR A i rural people.
<t sfigfeEt @ 2l | (2) Extension is an educ;a;;on arlxld. .
i~ e ite purpose is to change the
< 8 e § attitude and gkills of the people
SR | ! with whom the work is done.
®3) Wmﬁwﬁgﬁﬁﬁiﬂ 2w | (3) Extension edgcation is a
e Fad e e squrelt | behavioural science following
- @2 i a continuous and persuasive
3 ‘ educational process.
4) ot @l i (4) Allof the above

27 29 (= |



142.

143.

144,

145.

146.

it ¥ @ = @ wer fuw B
Ry TE € 7

(1) R-TTE

(2) TraTcHs

(3) wEEN W AR

(4) FETER U EEIFIA

0" = vk B 7 3 feess g o

TR 7

(1) st werrR @ . @A

(2) FrestEadAd

(3) & TERA

(4) 4. A

frmifeg § @ @R = yER R

frga iR 7

(1) wieHfEs GEEaTS S e

(2) Wit ferdratt w1 frgrt

(3) =R =t g

(4) Tmen % g

Srifea § A S w0 sferiesa e

H R TE 2 ?

(1) ezhn FFad

(2) Toregeff wmwiira

(3) A qUn wEEeiE @Ea
Hauq

(4) Teht =& feemmi 2 |

s & e & U S e
(), T GHAT & (-
o wihE), 98 # aEd @
(aﬁqﬁﬁ)mmﬁ%wm
2 (fp /o) | TEFTAR

(1) S

(2) RHIES I

(3) &I THfEER

(4) ire ae s

142.

143.

144.

In the following, which is not the
characteristic of extension
education ?

(1) Non-Institutional

(2) Functional

(3) Basedon Co-operation

(4) Innovation and Institutional

Extension is “learning by doing”
and “seeing is believing” by whom
this philosophy is given

(1) O.P.Bhatnagar and A.V. Reddy
(2) Mildred Horton

(3) D. Ensminger

(4) J.P.Leagan

In the following, which one is not the

~ principle of extension education ?

145.

(1) Principle of cultural
similarities.

(2) Principle of trained specialists.

(3) Principle of applied science.

(4) Principle of equality.

In the following, which is not the

characteristics  of non-formal

education ?

(1) Hierarchically Structured.

(2) Learner participation.

(3) Enrichment of human and
environmental potential.

(4) Does not lead to the degree.

. Behaviour refers to what an

individual knows (knowledge),
what he can do (skills-mental and

physical) = what he  thinks
(attitudes) and what he actually
does (action). This statement 1s
given by :

(1) J.P. Leagans

(2) Jersild

(3) D. Ensminger
(4) Loomis and Beegle
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147.

148.

149.

150.

“The individual is Supreme in a
democracy.” This statement is
given by

(1) Mildred Horton

(2) Rudramurthy

(3) Geral Miller

(4) Brooker

Any change in behaviour which
takes place as a result of
experience may be called

(1) Teaching

(2) Training

(3) Extension Education

(4) Learning

Which of the following is not
correct about Thorndike’s laws of
learning ?

(1) The law of exercise.

(2) The law of trial and error.

(3) The law of readiness.

(4) The law of effect.

In the following, which is not
correct about extension education ?
(1) The leadership qualities are
developed in rural people, if
they participate in extension
programme.

The extension programme
should be the people’s
programme with government
aid.

The rural people should not
voluntarily participate in the
extension programime.
Extension Education is an
out of school education.

@

3

@
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